DEPARTMENT OF PURCHASING AND CONTRACTING

BID TABULATION

Bid & Price Opening:

March 25, 2022 and *March 30, 2022

ITB No. 21-101364 ITB Name: High VisibilityReflective Safety Apparel (Three (3) Year Multiyear Contract)

Heaven's Ark Enterprise, Brewer & Associates, LAG Sports & Leather Dana Safety Supply Premier Safety E. R. Partridge, Inc. Safety Products, Inc. LLC LLC Wear ANNUAL ITEM EXTENDED EXTENDED EXTENDED EXTENDED EXTENDED EXTENDED EXTENDED ITEM DESCRIPTION ESTIMATED UNIT UNIT PRICE UNIT PRICE INIT PRICE UNIT PRICE UNIT PRICE JNIT PRICE UNIT PRICE NO. PRICE PRICE PRICE PRICE PRICE PRICE PRICE OUANTITY T-SHIRTS T-Shirt, short sleeve, Birdseye Knit, Fluorescent Yellow-Green, High visibility, Small, 100% Polyester, 3M[™] Scotchlite[™] \$20.71 \$4.659.75 \$19.90 \$4,477.50 \$19.85 \$4,466.25 \$14.61 \$3.287.25 \$8.99 \$2.022.75 \$18.24 \$4,104.00 1 225 Each Reflective Material Comfort Trim, per Appendix, Minimum Specifications on pages -Shirt, short sleeve, Birdseye Knit, Fluorescent Yellow-Green, High visibility, Medium, 100% Polyester 3M[™] Scotchlite[™] \$11,940.00 \$11,910.00 \$14.61 \$8,766.00 \$10.25 \$6,150.00 \$5,394.00 \$18.24 \$10,944.00 2 600 Each \$20.71 \$12,426.00 \$19.90 \$19.85 \$8.99 Reflective Material Comfort Trim, per Appendix, Minimum Specifications on page T-Shirt, short sleeve, Birdseve Knit, Fluorescent Yellow-Green, High visibility, arge, 100% Polvester, 3MTM ScotchliteTM \$13,149.00 \$9,225.00 \$16,416.00 3 900 Each \$20.71 \$18,639.00 \$19.90 \$17,910.00 \$19.85 \$17,865.00 \$14.61 \$10.25 \$8.99 \$8,091.00 \$18.24 Reflective Material Comfort Trim, per Appendix, Minimum Specifications on pages 2 T-Shirt, short sleeve, Birdseye Knit, Fluorescent Yellow-Green, High visibility, 2X-Large, 100% Polyester, 3M™ \$17,192.50 \$11,787.50 \$21,677.50 4 1150 \$20.71 \$23,816.50 \$19.90 \$22,885.00 \$20.50 \$23,575.00 \$14.95 \$10.25 \$9.99 \$11,488,50 \$18.85 Each Scotchlite[™] Reflective Material Comfort Trim, per Appendix, Minimum Specifications on pages 1-2. T-Shirt, short sleeve, Birdseye Knit, Fluorescent Yellow-Green, High visibility, 3X-Large, 100% Polyester, 3M™ 5 1100 Each \$20.71 \$22,781.00 \$20.90 \$22,990.00 \$21.15 \$23,265.00 \$14.95 \$16,445.00 \$10.25 \$11.275.00 \$9.99 \$10,989.00 \$19.45 \$21,395.00 Scotchlite[™] Reflective Material Comfort Trim, per Appendix, Minimum Specifications on pages 1-2. T-Shirt, short sleeve, Birdseye Knit, Fluorescent Yellow-Green, High visibility, 4X-Large, 100% Polyester, 3M[™] 6 700 \$20.71 \$14,497.00 \$21.40 \$14,980.00 \$21.75 \$15,225.00 \$16.56 \$11,592.00 \$10.25 \$7,175.00 \$9.99 \$6,993.00 \$20.06 \$14,042.00 Each Scotchlite[™] Reflective Material Comfort Trim, per Appendix, Minimum Specifications on pages 1-2. T-Shirt, short sleeve, Birdseye Knit, Fluorescent Yellow-Green, High visibility, 5X-Large, 100% Polyester, 3M™ 7 380 Each \$20.71 \$7,869.80 \$21.90 \$8,322.00 \$22.45 \$8,531.00 \$16.56 \$6,292.80 \$10.25 \$3,895.00 \$9.99 \$3,796.20 \$20.67 \$7,854.60 Scotchlite[™] Reflective Material Comfort Trim, per Appendix, Minimum Specifications on pages 1-2.

ITEM NO.	ITEM DESCRIPTION	ANNUAL ESTIMATED QUANTITY	UNIT	UNIT PRICE	EXTENDED PRICE												
								T-SHIRTS									

Agent: Sophia Thomas

ITEM NO.	ITEM DESCRIPTION	ANNUAL ESTIMATED OUANTITY	UNIT	UNIT PRICE	EXTENDED PRICE												
17	T-Shirt, long sleeve, Birdseye Knit, Fluorescent Yellow-Green, High visibility, 5X-Large, 100% Polyester, 3M™ Socthlite [™] Reflective Material Comfort Trim, per Appendix, Minimum Specifications on pages 3-4.	85	Each	\$24.35	\$2,069.75	\$26.50	\$2,252.50	\$26.35	\$2,239.75	\$21.16	\$1,798.60	\$13.45	\$1,143.25	\$11.99	\$1,019.15	\$24.30	\$2,065.50
16	T-Shirt, long sleeve, Birdseye Knit, Fluorescent Yellow-Green, High visibility, 4X-Large, 100% Polyester, 3M™ Socthilit [™] Reflective Material Comfort Trim, per Appendix, Minimum Specifications on pages 3-4.	180	Each	\$24.35	\$4,383.00	\$25.50	\$4,590.00	\$25.65	\$4,617.00	\$21.16	\$3,808.80	\$13.45	\$2,421.00	\$10.99	\$1,978.20	\$23.70	\$4,266.00
15	T-Shirt, long sleeve, Birdseye Knit, Fluorescent Yellow-Green, High visibility, 3X-Large, 100% Polyester, 3M™ Scotchlite™ Reflective Material Comfort Trim, per Appendix, Minimum Specifications on pages 3-4.	250	Each	\$24.35	\$6,087.50	\$24.50	\$6,125.00	\$25.00	\$6,250.00	\$19.55	\$4,887.50	\$13.45	\$3,362.50	\$10.99	\$2,747.50	\$23.09	\$5,772.50
14	T-Shirt, long sleeve, Birdseye Knit, Fluorescent Yellow-Green, High visibility, 2X-Large, 100% Polyester, 3M TM Scotchlite TM Reflective Material Comfort Trim, per Appendix, Minimum Specifications on pages 3-4.	300	Each	\$24.35	\$7,305.00	\$23.50	\$7,050.00	\$24.40	\$7,320.00	\$19.55	\$5,865.00	\$13.45	\$4,035.00	\$10.99	\$3,297.00	\$22.48	\$6,744.00
13	T-Shirt, long sleeve, Birdseye Knit, Fluorescent Yellow-Green, High visibility, X- Large, 100% Polyester, 3M™ Scotchlite™ Reflective Material Comfort Trim, per Appendix, Minimum Specifications on pages 3-4.	200	Each	\$24.35	\$4,870.00	\$23.50	\$4,700.00	\$23.75	\$4,750.00	\$19.55	\$3,910.00	\$13.45	\$2,690.00	\$10.99	\$2,198.00	\$21.88	\$4,376.00
12	T-Shirt, long sleeve, Birdseye Knit, Fluorescent Yellow-Green, High visibility, Large, 100% Polyester, 3M TM Scotchlite TM Reflective Material Comfort Trim, per Appendix, Minimum Specifications on pages 3.4	200	Each	\$24.35	\$4,870.00	\$23.50	\$4,700.00	\$23.75	\$4,750.00	\$19.21	\$3,842.00	\$13.45	\$2,690.00	\$10.99	\$2,198.00	\$21.88	\$4,376.00
11	T-Shirt, long sleeve, Birdseye Knit, Fluorescent Yellow-Green, High visibility, Medium, 100% Polyester, 3M [™] Scotchlite [™] Reflective Material Comfort Trim, per Appendix, Minimum Specifications on pages 3-4.	375	Each	\$24.35	\$9,131.25	\$23.50	\$8,812.50	\$23.75	\$8,906.25	\$19.21	\$7,203.75	\$13.45	\$5,043.75	\$10.99	\$4,121.25	\$21.88	\$8,205.00
10	T-Shirt, long sleeve, Birdseye Knit, Fluorescent Yellow-Green, High visibility, Small, 100% Polyester, 3M [™] Scotchlite [™] Reflective Material Comfort Trim, per Appendix, Minimum Specifications on pages 3-4.	100	Each	\$24.35	\$2,435.00	\$23.50	\$2,350.00	\$23.75	\$2,375.00	\$19.21	\$1,921.00			\$10.99	\$1,099.00	\$21.88	\$2,188.00
9	T-Shirt, short sleeve, Birdseye Knit, Fluorescent Yellow-Green, High visibility, 7X-Large, 100% Polyester, 3MT ^M Scotchlite TM Reflective Material Comfort Trim, per Appendix, Minimum Specifications on pages 1-2.	95	Each	\$20.71	\$1,967.45	\$22.90	\$2,175.50	\$23.75	\$2,256.25	\$16.56	\$1,573.20			\$9.99	\$949.05	\$21.88	\$2,078.60
8	T-Shirt, short sleeve, Birdseye Knit, Fluorescent Yellow-Green, High visibility, 6X-Large, 100% Polyester, 3MTM Scotchlite TM Reflective Material Comfort Trim, per Appendix, Minimum Specifications on pages 1-2.	200	Each	\$20.71	\$4,142.00	\$22.40	\$4,480.00	\$23.10	\$4,620.00	\$16.56	\$3,312.00			\$9.99	\$1,998.00	\$21.27	\$4,254.00

18	T-Shirt, long sleeve, Birdseye Knit, Fluorescent Yellow-Green, High visibility, 6X-Large, 100% Polyester, 3M™ Scotchlite™ Reflective Material Comfort Trim, per Appendix, Minimum Specifications on pages 3-4.	70	Each	\$24.35	\$1,704.50	\$27.50	\$1,925.00	\$27.00	\$1,890.00	\$21.16	\$1,481.20			\$11.99	\$839.30	\$24.91	\$1,743.70
19	T-Shirt, long sleeve, Birdseye Knit, Fluorescent Yellow-Green, High visibility, 7X-Large, 100% Polyester, 3M™ Scotchlite™ Reflective Material Comfort Trim, per Appendix, Minimum Specifications on pages 3-4.	10	Each	\$24.35	\$243.50	\$28.00	\$280.00	\$27.65	\$276.50	\$21.16	\$211.60			\$11.99	\$119.90	\$25.52	\$255.20
20	T-Shirt, short sleeve, Jersey Knit, Fluorescent Yellow-Green, High visibility, Small, 100% Polyester, 3M [™] Scotchlite [™] Reflective Material Comfort Trim, per Appendix, Minimum Specifications on pages 1-2.	1	Each	\$22.01	\$22.01	\$19.90	\$19.90	\$20.10	\$20.10	\$17.60	\$17.60	\$23.90	\$23.90	\$8.99	\$8.99	\$18.48	\$18.48
21	T-Shirt, short sleeve, Jersey Knit, Fluorescent Yellow-Green, High visibility, Medium, 100% Polyester, 3M™ Scotchlite™ Reflective Material Comfort Trim, per Appendix, Minimum Specifications on pages 1-2.	1	Each	\$22.01	\$22.01	\$19.90	\$19.90	\$20.10	\$20.10	\$17.60	\$17.60	\$23.90	\$23.90	\$8.99	\$8.99	\$18.48	\$18.48
22	T-Shirt, short sleeve, Jersey Knit, Fluorescent Yellow-Green, High visibility, Large, 100% Polyester, 3M™ Scotchlite™ Reflective Material Comfort Trim, per Appendix, Minimum Specifications on pages 1-2.	1	Each	\$22.01	\$22.01	\$19.90	\$19.90	\$20.10	\$20.10	\$17.60	\$17.60	\$23.90	\$23.90	\$8.99	\$8.99	\$18.48	\$18.48
23	T-Shirt, short sleeve, Jersey Knit, Fluorescent Yellow-Green, High visibility, X- Large, 100% Polyester, 3M™ Scotchlite™ Reflective Material Comfort Trim, per Appendix, Minimum Specifications on pages 1-2.	1	Each	\$22.01	\$22.01	\$19.90	\$19.90	\$20.10	\$20.10	\$17.60	\$17.60	\$23.90	\$23.90	\$8.99	\$8.99	\$18.48	\$18.48
24	T-Shirt, short sleeve, Jersey Knit, Fluorescent Yellow-Green, High visibility, 2X-Large, 100% Polyester, 3M [™] Scotchlite [™] Reflective Material Comfort Trim, per Appendix, Minimum Specifications on pages 1-2.	1	Each	\$22.01	\$22.01	\$20.50	\$20.50	\$20.75	\$20.75	\$18.63	\$18.63	\$23.90	\$23.90	\$9.99	\$9.99	\$19.09	\$19.09
25	T-Shirt, short sleeve, Jersey Knit, Fluorescent Yellow-Green, High visibility, 3X-Large, 100% Polyester, 3M [™] Scotchlite [™] Reflective Material Comfort Trim, per Appendix, Minimum Specifications on pages 1-2.	1	Each	\$22.01	\$22.01	\$21.25	\$21.25	\$21.40	\$21.40	\$18.63	\$18.63	\$23.90	\$23.90	\$9.99	\$9.99	\$19.70	\$19.70
26	T-Shirt, short sleeve, Jersey Knit, Fluorescent Vellow-Green, High visibility, 4X-Large, 100% Polyester, 3M™ Scotchlite™ Reflective Material Comfort Trim, per Appendix, Minimum Specifications on pages 1-2.	1	Each	\$22.01	\$22.01	\$21.90	\$21.90	\$22.05	\$22.05	\$18.63	\$18.63	\$23.90	\$23.90	\$9.99	\$9.99	\$20.30	\$20.30

ITEM NO.	ITEM DESCRIPTION	ANNUAL ESTIMATED QUANTITY	UNIT	UNIT PRICE	EXTENDED PRICE												
								T-SHIRTS									

	T-Shirt, short sleeve, Jersey Knit, Fluorescent Yellow-Green, High visibility,																
27	5X-Large, 100% Polyester, 3M™ Scotchlite™ Reflective Material Comfort Trim, per Appendix, Minimum Specifications on pages 1-2.	1	Each	\$22.01	\$22.01	\$22.90	\$22.90	\$22.70	\$22.70	\$19.78	\$19.78	\$23.90	\$23.90	\$9.99	\$9.99	\$20.91	\$20.91
	T-Shirt, short sleeve, Jersey Knit, Fluorsecent Vellow-Green, High visibility, 6X-Large, 100% Polyester, 3M™ Scotchlitet™ Reflective Material Comfort Trim, per Appendix, Minimum Specifications on pages 1-2.	1	Each	\$22.01	\$22.01	\$23.90	\$23.90	\$23.35	\$23.35	\$19.78	\$19.78			\$9.99	\$9.99	\$21.52	\$21.52
29	T-Shirt, short sleeve, Jersey Knit, Fluorescent Yellow-Green, High visibility, 7X-Large, 100% Polyester, 3M™ Scotchlitet™ Reflective Material Comfort Trim, per Appendix, Minimum Specifications on pages 1-2.	1	Each	\$22.01	\$22.01	\$24.90	\$24.90	\$24.00	\$24.00	\$19.78	\$19.78			\$9.99	\$9.99	\$21.88	\$21.88
	T-Shirt, long sleeve, Jersey Knit, Fluorescent Yellow-Green, High visibility, Small, 100% Polyester, 3M™ Scotchlite™ Reflective Material Comfort Trim, per Appendix, Minimum Specifications on pages 3-4.	1	Each	\$24.35	\$24.35	\$25.90	\$25.90	\$23.75	\$23.75	\$19.38	\$19.38	\$35.60	\$35.60	\$10.99	\$10.99	\$21.88	\$21.88
31	T-Shirt, long sleeve, Jersey Knit, Fluorescent Yellow-Green, High visibility, Medium, 100% Polyester, 3M [™] Scotchlite [™] Reflective Material Comfort Trim, per Appendix, Minimum Specifications on pages 3-4.	130	Each	\$24.35	\$3,165.50	\$23.50	\$3,055.00	\$23.75	\$3,087.50	\$19.38	\$2,519.40	\$35.60	\$4,628.00	\$10.99	\$1,428.70	\$21.88	\$2,844.40
	T-Shirt, long sleeve, Jersey Knit, Fluorescent Yellow-Green, High visibility, Large, 100% Polyester, 3M™ Scotchlite™ Reflective Material Comfort Trim, per Appendix, Minimum Specifications on pages 3-4.	150	Each	\$24.35	\$3,652.50	\$23.50	\$3,525.00	\$23.75	\$3,562.50	\$19.38	\$2,907.00	\$35.60	\$5,340.00	\$10.99	\$1,648.50	\$21.88	\$3,282.00
	T-Shirt, long sleeve, Jersey Knit, Fluorescent Yellow-Green, High visibility, X-Large, 100% Polyseter, 3M™ Scotchhite™ Reflective Material Comfort Trim, per Appendix, Minimum Specifications on pages 3-4.	230	Each	\$24.35	\$5,600.50	\$23.50	\$5,405.00	\$23.75	\$5,462.50	\$19.38	\$4,457.40	\$35.60	\$8,188.00	\$10.99	\$2,527.70	\$21.88	\$5,032.40
34	T-Shirt, long sleeve, Jersey Knit, Fluorescent Yellow-Green, High visibility, 2X-Large, 100% Polyseiter, 3M™ Scotchhite™ Reflective Material Comfort Trim, per Appendix, Minimum Specifications on pages 3-4.	375	Each	\$24.35	\$9,131.25	\$23.75	\$8,906.25	\$24.40	\$9,150.00	\$19.94	\$7,477.50	\$35.60	\$13,350.00	\$10.99	\$4,121.25	\$22.48	\$8,430.00
35	T-Shirt, long sleeve, Jersey Knit, Fluorescent Yellow-Green, High visibility, 3X-Large, 100% Polyester, 3M [™] Scotchlite [™] Reflective Material Comfort Trim, per Appendix, Minimum Specifications on pages 3-4.	300	Each	\$24.35	\$7,305.00	\$24.50	\$7,350.00	\$25.05	\$7,515.00	\$19.94	\$5,982.00	\$35.60	\$10,680.00	\$10.99	\$3,297.00	\$23.09	\$6,927.00
36	T-Shirt, long sleeve, Jersey Knit, Fluorescent Yellow-Green, High visibility, 4X-Large, 100% Polyester, 3M [™] Scotchlite [™] Reflective Material Comfort Trim, per Appendix, Minimum Specifications on pages 3-4.	150	Each	\$24.35	\$3,652.50	\$25.50	\$3,825.00	\$25.70	\$3,855.00	\$19.94	\$2,991.00	\$35.60	\$5,340.00	\$10.99	\$1,648.50	\$23.70	\$3,555.00
ITEM NO.	ITEM DESCRIPTION	ANNUAL ESTIMATED QUANTITY	UNIT	UNIT PRICE	EXTENDED PRICE												
_																	

37	T-Shirt, long sleeve, Jersey Knit, Fluorescent Yellow-Green, High visibility, 5X-Large, 100% Polyester, 3M [™] Scotchlite [™] Reflective Material Comfort Trim, per Appendix, Minimum Specifications on pages 3-4.	100	Each	\$24.35	\$2,435.00	\$26.50	\$2,650.00	\$26.35	\$2,635.00	\$22.18	\$2,218.00	\$35.60	\$3,560.00	\$11.99	\$1,199.00	\$24.30	\$2,430.00
38	T-Shirt, long sleeve, Jersey Knit, Fluorescent Yellow-Green, High visibility, 6X-Large, 100% Polyester, 3M [™] Scotchlite [™] Reflective Material Comfort Trim, per Appendix, Minimum Specifications on pages 3.4.	60	Each	\$24.35	\$1,461.00	\$27.50	\$1,650.00	\$27.00	\$1,620.00	\$22.18	\$1,330.80			\$11.99	\$719.40	\$24.91	\$1,494.60
39	T-Shirt, long sleeve, Jersey Knit, Fluorescent Yellow-Green, High visibility, 7X-Large, 100% Polyester, 3M [™] Scotchlite [™] Reflective Material Comfort Trim, per Appendix, Minimum Specifications on pages 3-4.	1	Each	\$24.35	\$24.35	\$28.50	\$28.50	\$27.63	\$27.63	\$22.18	\$22.18			\$11.99	\$11.99	\$25.52	\$25.52
								SAFETY VES	ST								
40	Safety Vest, Small, 5-Point Breakaway, Class 2, 100% Polyester Mesh, Fluorescent Yellow-Green, 3M™ Scotchlite™ Reflective Material, per Appendix, Minimum Specifications on pages 5-6.	50	Each	\$12.47	\$623.50	\$16.00	\$800.00	\$11.20	\$560.00	\$14.00	\$700.00					\$7.21	\$360.50
41	Safety Vest, Medium, 5-Point Breakaway, Class 2, 100% Polyester Mesh, Fluorescent Yellow-Green, 3M™ Scotchlite™ Reflective Material, per Appendix, Minimum Specifications on pages 5-6.	150	Each	\$12.47	\$1,870.50	\$16.00	\$2,400.00	\$11.20	\$1,680.00	\$14.00	\$2,100.00	\$7.50	\$1,125.00			\$7.21	\$1,081.50
42	Safety Vest, Large, 5-Point Breakaway, Class 2, 100% Polyester Mesh, Fluorescent Yellow-Green, 3M™ Scotchlite™ Reflective Material, per Appendix, Minimum Specifications on pages 5-6.	175	Each	\$12.47	\$2,182.25	\$16.00	\$2,800.00	\$11.20	\$1,960.00	\$14.00	\$2,450.00	\$7.50	\$1,312.50			\$7.21	\$1,261.75
43	Safety Vest, X-Large, 5-Point Breakaway, Class 2, 100% Polyester Mesh, Fluorescent Yellow-Green, 3M™ Scotchlite™ Reflective Material, per Appendix, Minimum Specifications on pages 5-6.	175	Each	\$12.47	\$2,182.25	\$16.00	\$2,800.00	\$11.20	\$1,960.00	\$14.00	\$2,450.00	\$7.50	\$1,312.50			\$7.21	\$1,261.75
44	Safety Vest, 2X-Large, 5-Point Breakaway, Class 2, 100% Polyester Mesh, Fluorescent Yellow-Green, 3M™ Scotchlite™ Reflective Material, per Appendix, Minimum Specifications on pages 5-6.	200	Each	\$12.47	\$2,494.00	\$17.00	\$3,400.00	\$11.85	\$2,370.00	\$15.50	\$3,100.00	\$7.50	\$1,500.00			\$7.21	\$1,442.00
45	Safety Vest, 3X-Large, 5-Point Breakaway, Class 2, 100% Polyester Mesh, Fluorescent Yellow-Green, 3M™ Scotchlite™ Reflective Material, per Appendix, Minimum Specifications on pages 5-6.	200	Each	\$12.47	\$2,494.00	\$17.00	\$3,400.00	\$12.50	\$2,500.00	\$15.50	\$3,100.00	\$7.50	\$1,500.00			\$7.21	\$1,442.00

ITE! NO	ITEM DESCRIPTION	ANNUAL ESTIMATED QUANTITY	UNIT	UNIT PRICE	EXTENDED PRICE												
								SAFETY VES	т								

								SAFETY VES	ST								
ITEM NO.	ITEM DESCRIPTION	ANNUAL ESTIMATED QUANTITY	UNIT	UNIT PRICE	EXTENDED PRICE												
55	Safety Vest, 3X-Large, 5-Point Breakaway, Class 2, 100% Polyester Mesh, Fluorescent Yellow-Green Vest / Orange-Red Ribbon, 3MTM ScotchliteTM Reflective Material, per Appendix, Minimum Specifications on pages 7-8.	225	Each	\$15.26	\$3,433.50	\$21.00	\$4,725.00	\$16.60	\$3,735.00	\$9.25	\$2,081.25					\$14.18	\$3,190.50
54	Safety Vest, 2X-Large, 5-Point Breakaway, Class 2, 100% Polyester Mesh, Fluorescent Yellow-Green Vest / Orange-Red Ribbon, 3M [™] Scotchlite [™] Reflective Material, per Appendix, Minimum Specifications on pages 7-8.	200	Each	\$15.26	\$3,052.00	\$20.00	\$4,000.00	\$15.30	\$3,060.00	\$9.00	\$1,800.00					\$12.97	\$2,594.00
53	Safety Vest, X-Large, 5-Point Breakaway, Class 2, 100% Polyester Mesh, Fluorescent Yellow-Green Vest / Orange-Red Ribbon, 3M™ Scotchlite™ Reflective Material, per Appendix, Minimum Specifications on pages 7-8.	115	Each	\$15.26	\$1,754.90	\$19.00	\$2,185.00	\$14.00	\$1,610.00	\$9.00	\$1,035.00					\$12.97	\$1,491.55
52	Safety Vest, Large, 5-Point Breakaway, Class 2, 100% Polyester Mesh, Fluorescent Yellow-Green Vest / Orange-Red Ribbon, 3M™ Scotchlite™ Reflective Material, per Appendix, Minimum Specifications on pages 7-8.	50	Each	\$15.26	\$763.00	\$19.00	\$950.00	\$14.00	\$700.00	\$9.00	\$450.00					\$12.97	\$648.50
51	Safety Vest, Medium, 5-Point Breakaway, Class 2, 100% Polyester Mesh, Fluorescent Yellow-Green Vest / Orange-Red Ribbon, 3M™ Scotchlite™ Reflective Material, per Appendix, Minimum Specifications on pages 7-8.	50	Each	\$15.26	\$763.00	\$19.00	\$950.00	\$14.00	\$700.00	\$9.00	\$450.00					\$12.97	\$648.50
50	Safety Vest, Small, 5-Point Breakaway, Class 2, 100% Polyester Mesh, Fluorescent Yellow-Green Vest / Orange-Red Ribbon, 3MTM Scotchlite TM Reflective Material, per Appendix, Minimum Specifications on pages 7-8.	1	Each	\$15.26	\$15.26	\$19.00	\$19.00	\$14.00	\$14.00	\$9.00	\$9.00					\$12.97	\$12.97
49	Safety Vest, 7X-Large, 5-Point Breakaway, Class 2, 100% Polyester Mesh, Fluorescent Yellow-Green, 3M TM Scotchitte TM Reflective Material, per Appendix, Minimum Specifications on pages 5-6.	50	Each	\$12.47	\$623.50	\$20.50	\$1,025.00	\$15.10	\$755.00	\$16.50	\$825.00						
48	Safety Vest, 6X-Large, 5-Point Breakaway, Class 2, 100% Polyester Mesh, Fluorescent Yellow-Green, 3M™ Scotchlite™ Reflective Material, per Appendix, Minimum Specifications on pages 5-6.	50	Each	\$12.47	\$623.50	\$19.50	\$975.00	\$14.45	\$722.50	\$16.50	\$825.00						
	Safety Vest, 5X-Large, 5-Point Breakaway, Class 2, 100% Polyester Mesh, Fluorescent Yellow-Green, 3M™ Scotchlite™ Reflective Material, per Appendix, Minimum Specifications on pages 5-6.	150	Each	\$12.47	\$1,870.50	\$18.50	\$2,775.00	\$13.80	\$2,070.00	\$16.50	\$2,475.00	\$7.50	\$1,125.00			\$7.21	\$1,081.50
46	Safety Vest, 4X-Large, 5-Point Breakaway, Class 2, 100% Polyester Mesh, Fluorescent Yellow-Green, 3M™ Scotchlite™ Reflective Material, per Appendix, Minimum Specifications on pages 5-6.	150	Each	\$12.47	\$1,870.50	\$17.50	\$2,625.00	\$13.15	\$1,972.50	\$15.50	\$2,325.00	\$7.50	\$1,125.00			\$7.21	\$1,081.50

	i														
56	Safety Vest, 4X-Large, 5-Point Breakaway, Class 2, 100% Polyester Mesh, Fluorescent Yellow-Green Vest / Orange-Red Ribbon, M™ Socthlite™ Reflective Material, per Appendix, Minimum Specifications on pages 7-8.	225	Each	\$15.26	\$3,433.50	\$22.00	\$4,950.00	\$17.90	\$4,027.50	\$9.25	\$2,081.25			\$15.39	\$3,462.75
57	Safety Vest, 5X-Large, 5-Point Breakaway, Class 2, 100% Polyester Mesh, Fluorescent Yellow-Green Vest / Orange-Red Ribbon, 3M [™] Scotchlite [™] Reflective Material, per Appendix, Minimum Specifications on pages 7-8.	200	Each	\$15.26	\$3,052.00	\$23.50	\$4,700.00	\$19.20	\$3,840.00	\$9.50	\$1,900.00			\$16.61	\$3,322.00
58	Safety Vest, 6X-Large, 5-Point Breakaway, Class 2, 100% Polyester Mesh, Fluorescent Yellow-Green Vest / Orange-Red Ribbon, 3M™ Scotchlite™ Reflective Material, per Appendix, Minimum Specifications on pages 7-8.	75	Each	\$15.26	\$1,144.50	\$24.50	\$1,837.50	\$20.50	\$1,537.50	\$9.50	\$712.50			\$17.82	\$1,336.50
59	Safety Vest, 7X-Large, 5-Point Breakaway, Class 2, 100% Polyester Mesh, Fluorescent Yellow-Green Vest / Orange-Red Ribbon, 3M [™] Scotchlite [™] Reflective Material, per Appendix, Minimum Specifications on pages 7-8.	75	Each	\$15.26	\$1,144.50	\$26.00	\$1,950.00	\$21.80	\$1,635.00	\$9.50	\$712.50			\$19.03	\$1,427.25
60	Safety Vest, Small, 9-Point Breakaway, Class 3, 100% Polyester Flame Resistant Mesh, Fluorescent Yellow-Green Vest / Orange-Red Ribbon, 3M™ Scotchlite™ Reflective Material, per Appendix, Minimum Specifications on page 9.	1	Each							\$19.95	\$19.95				
61	Safety Vest, Medium, 9-Point Breakaway, Class 3, 100% Polyester Flame Resistant Mesh, Fluorescent Yellow-Green Vest / Orange-Red Ribbon, 3M [™] Scotchlite [™] Reflective Material, per Appendix, Minimum Specifications on page 9.	30	Each							\$19.95	\$598.50				
62	Safety Vest, Large, 9-Point Breakaway, Class 3, 100% Polyester Flame Resistant Mesh, Fluorescent Y ellow-Green Vest / Orange-Red Ribbon, 3M™ Scotchlite™ Reflective Material, per Appendix, Minimum Specifications on page 9.	1	Each							\$19.95	\$19.95				
63	Safety Vest, X-Large, 9-Point Breakaway, Class 3, 100% Polyester Mesh, Fluorescent Yellow-Green Vest / Orange-Red Ribbon, 3M™ Scotchlite™ Reflective Material, per Appendix, Minimum Specifications on page 9.	1	Each							\$19.95	\$19.95				
64	Safety Vest, 2X-Large, 9-Point Breakaway, Class 3, 100% Polyester Mesh, Fluorescent Yellow-Green Vest / Orange-Red Ribbon, 3MTM Scotchilet ^{7M} Reflective Material, per Appendix, Minimum Specifications on page 9.	50	Each							\$20.95	\$1,047.50				

ITE! NO	1 ITEM DESCRIPTION	ANNUAL ESTIMATED QUANTITY	UNIT	UNIT PRICE	EXTENDED PRICE												
								SAFETY VES	т								

67	Yellow-Green Vest / Orange-Red Ribbon, 3M™ Scotchlite™ Reflective Material, per Appendix, Minimum Specifications on page 9.	12	Each							\$23.95	\$287.40						
68	Appendix, Minimum Specifications on page 9. Safety Vest, 6X-Large, 9-Point Breakaway, Class 3, 100% Polyester Mesh, Fluorescent Yellow-Green Vest / Orange-Red Ribbon, 3MTM ScotchliteTM Reflective Material, per	1	Each							\$24.95	\$24.95						
	Appendix, Minimum Specifications on page 9. Safety Vest, 7X-Large, 9-Point Breakaway,																
69	Satey Vest, / X=200, 57-010 inchaaway, Class 3, 100% Polyester Mesh, Fluorescent Yellow-Green Vest / Orange-Red Ribbon, 3M™ Sottchlite [™] Reflective Material, per Appendix, Minimum Specifications on page 9.	1	Each							\$25.95	\$25.95						
70	Safety Vest, Small, 4-Point Breakaway, V- Neck, 100% Polyester, non-mesh, Fluorsecent Yellow-Green, 3M [™] Scotchlitet [™] Reflective Material, per Appendix, Minimum Specifications on pages 10-11.	1	Each	\$22.66	\$22.66	\$28.00	\$28.00	\$21.40	\$21.40	\$15.95	\$15.95					\$19.88	\$19.88
71	Safety Vest, Medium, 4-Point Breakaway, V- Neck, 100% Polyester, non-mesh, Fluorescent Yellow-Green, 3M TM Scotchlitet [™] Reflective Material, per Appendix, Minimum Specifications on pages 10-11.	120	Each	\$22.66	\$2,719.20	\$28.00	\$3,360.00	\$21.40	\$2,568.00	\$15.95	\$1,914.00					\$19.88	\$2,385.60
72	Safety Vest, Large, 4-Point Breakaway, V- Neck, 100% Polyester, non-mesh, Fluorsesent Yellow-Green, 3M [™] Scotchlite [™] Reflective Material, per Appendix, Minimum Specifications on pages 10-11.	140	Each	\$22.66	\$3,172.40	\$28.00	\$3,920.00	\$21.40	\$2,996.00	\$15.95	\$2,233.00					\$19.88	\$2,783.20
73	Safety Vest, X-Large, 4-Point Breakaway, V- Neck, 100% Polyester, non-mesh, Fluorescent Yellow-Green, 3M [™] Scotchlite [™] Reflective Material, per Appendix, Minimum Specifications on pages 10-11.	140	Each	\$22.66	\$3,172.40	\$28.00	\$3,920.00	\$21.40	\$2,996.00	\$15.95	\$2,233.00					\$19.88	\$2,783.20
74	Safety Vest, 2X-Large, 4-Point Breakaway, V-Neck, 100% Polyester, non-mesh, Fluorescent Vellow-Green, 3M [™] Scotchlite [™] Reflective Material, per Appendix, Minimum Specifications on pages 10-11.	140	Each	\$22.66	\$3,172.40	\$29.00	\$4,060.00	\$22.70	\$3,178.00	\$16.95	\$2,373.00					\$21.09	\$2,952.60
ITEM NO.	ITEM DESCRIPTION	ANNUAL ESTIMATED QUANTITY	UNIT	UNIT PRICE	EXTENDED PRICE												
	TITEM DESCRIPTION ESTIMATED UNIT UNIT PRICE EXTENDED UNIT PRICE DUCE DUCE UNIT PRICE DUCE DUCE DUCE DUCE DUCE DUCE DUCE DU																

75	Safety Vest, 3X-Large, 4-Point Breakaway, V-Neck, 100% Polyester, non-mesh, Fluorescent Vellow-Green, 3M™ Scotchlite™ Reflective Material, per Appendix, Minimum Specifications on pages 10-11.	140	Each	\$3,172.73	\$444,182.20	\$29.00	\$4,060.00	\$22.70	\$3,178.00	\$17.95	\$2,513.00			\$21.09	\$2,952.60
76	Safety Vest, 4X-Large, 4-Point Breakaway, V-Neck, 100% Polyester, non-mesh, Fluorescent Vellow-Green, 3M [™] Scotchlite™ Reflective Material, per Appendix, Minimum Specifications on pages 10-11.	50	Each	\$22.66	\$1,133.00	\$30.00	\$1,500.00	\$24.00	\$1,200.00	\$18.95	\$947.50			\$22.30	\$1,115.00
77	Safety Vest, 5X-Large, 4-Point Breakaway, V-Neck, 100% Polyester, non-mesh, Fluorescent Yellow-Green, 3M™ Scotchlite™ Reflective Material, per Appendix, Minimum Specifications on pages 10-11.	50	Each	\$22.66	\$1,133.00	\$30.00	\$1,500.00	\$24.00	\$1,200.00	\$19.95	\$997.50			\$22.30	\$1,115.00
78	Safety Vest, 6X-Large, 4-Point Breakaway, V-Neck, 100% Polyester, non-mesh, Fluorescent Vellow-Green, 3M [™] Scotchlite™ Reflective Material, per Appendix, Minimum Specifications on pages 10-11.	50	Each	\$22.66	\$1,133.00			\$20.50	\$1,025.00	\$20.95	\$1,047.50				
79	Safety Vest, 7X-Large, 4-Point Breakaway, V-Neck, 100% Polyester, non-mesh, Fluorescent Vellow-Green, 3M [™] Scotchlite [™] Reflective Material, per Appendix, Minimum Specifications on pages 10-11.	50	Each	\$22.66	\$1,133.00			\$21.80	\$1,090.00	\$21.95	\$1,097.50				
80	Safety Vest, Medium, 100% Polyester mesh, Non-Breakaway, Class 2, Fluorescent Yellow-Green / Red-Orange Ribbon, 3M™ Scotchlite™ Reflective Material, per Appendix, Minimum Specifications on pages 12-13.	150	Each	\$9.42	\$1,413.00	\$10.50	\$1,575.00	\$13.60	\$2,040.00	\$8.50	\$1,275.00			\$12.61	\$1,891.50
81	Safety Vest, Large, 100% Polyester mesh, Non-Breakaway, Class 2, Fluorescent Yellow-Green / Red-Orange Ribbon, 3M™ Scotchite™ Reflective Material, per Appendix, Minimum Specifications on pages 12-13.	275	Each	\$9.42	\$2,590.50	\$10.50	\$2,887.50	\$13.60	\$3,740.00	\$8.50	\$2,337.50			\$12.61	\$3,467.75
82	Safety Vest, X-Large, 100% Polyester mesh, Non-Breakaway, Class 2, Fluorescent Yellow-Green / Red-Orange Ribbon, 3M™ Scotchlite™ Reflective Material, per Appendix, Minimum Specifications on pages 12-13.	425	Each	\$9.42	\$4,003.50	\$10.50	\$4,462.50	\$13.60	\$5,780.00	\$8.50	\$3,612.50			\$12.61	\$5,359.25
83	Safety Vest, 2X- Large, 100% Polyester mesh, Non-Breakaway, Class 2, Fluorescent Yellow-Green / Red-Orange Ribbon, 3MTM Scotchlite TM Reflective Material, per Appendix, Minimum Specifications on pages 12-13.	525	Each	\$9.42	\$4,945.50	\$10.50	\$5,512.50	\$14.90	\$7,822.50	\$8.50	\$4,462.50			\$13.82	\$7,255.50

ITEM NO.	ITEM DESCRIPTION	ANNUAL ESTIMATED QUANTITY	UNIT	UNIT PRICE	EXTENDED PRICE												
								SAFETY VES	т								

84	Safety Vest, 3X-Large, 100% Polyester mesh, Non-Breakaway, Class 2, Fluorescent Yellow-Green / Red-Orange Ribbon, 3M™ Scotchlite™ Reflective Material, per Appendix, Minimum Specifications on pages 12-13.	525	Each	\$9.42	\$4,945.50	\$12.00	\$6,300.00	\$16.20	\$8,505.00	\$9.00	\$4,725.00				\$15.03	\$7,890.75
85	Safety Vest, 4X-Large, 100% Polyester mesh, Non-Breakaway, Class 2, Fluorescent Yellow-Green / Red-Orange Ribbon, 3M™ Scotchlite™ Reflective Material, per Appendix, Minimum Specifications on pages 12-13.	475	Each	\$9.42	\$4,474.50	\$13.00	\$6,175.00	\$17.50	\$8,312.50	\$9.00	\$4,275.00				\$16.24	\$7,714.00
86	Safety Vest, 5X-Large, 100% Polyester mesh, Non-Breakaway, Class 2, Fluorescent Yellow-Green / Red-Orange Ribbon, 3M™ Scotchlite™ Reflective Material, per Appendix, Minimum Specifications on pages 12-13.	400	Each	\$9.42	\$3,768.00	\$14.50	\$5,800.00	\$18.80	\$7,520.00	\$9.00	\$3,600.00				\$17.45	\$6,980.00
87	Safety Vest, 6X-Large, 100% Polyester mesh, Non-Breakaway, Class 2, Fluorescent Yellow-Green / Red-Orange Ribbon, 3M™ Scotchlite™ Reflective Material, per Appendix, Minimum Specifications on pages 12-13.	150	Each	\$9.42	\$1,413.00	\$15.75	\$2,362.50	\$20.10	\$3,015.00	\$10.00	\$1,500.00				\$18.67	\$2,800.50
88	Safety Vest, 7X-Large, 100% Polyester mesh, Non-Breakaway, Class 2, Fluorescent Yellow-Green / Red-Orange Ribbon, 3M™ Scotchlite™ Reflective Material, per Appendix, Minimum Specifications on pages 12-13.	100	Each	\$9.42	\$942.00	\$17.00	\$1,700.00	\$21.40	\$2,140.00	\$10.00	\$1,000.00				\$19.88	\$1,988.00
	· · · · · · · · · · · · · · · · · · ·							RAIN WEAL	R							
89	Rainwear Set, Small, 100% Waterproof, Class 3, Fluorescent Yellow-Green, 3M [™] Scotchlite [™] Reflective Material, per	50	Each Set	\$43.90	\$2,195.00	\$44.00	\$2,200.00	\$47.20	\$2,360.00	\$35.50	\$1,775.00	\$38.15	\$1,907.50		\$37.27	\$1,863.50
	Appendix, Minimum Specifications on pages 14-15.	1	Jacket Only	\$30.45	\$30.45			\$61.45	\$61.45	\$24.85	\$24.85				\$34.90	\$34.90
90	Rainwear Set, Medium, 100% Waterproof, Class 3, Fluorescent Yellow-Green, 3M [™] Scotchlite [™] Reflective Material, per	200	Each Set	\$43.90	\$8,780.00	\$44.00	\$8,800.00	\$47.20	\$9,440.00	\$35.50	\$7,100.00	\$38.15	\$7,630.00		\$37.27	\$7,454.00
90	Appendix, Minimum Specifications on pages 14-15.	1	Jacket Only	\$30.45	\$30.45			\$61.45	\$61.45	\$24.85	\$24.85				\$34.90	\$34.90
91	Rainwear Set, Large, 100% Waterproof, Class 3, Fluorescent Yellow-Green, 3M™ Scotchlite™ Reflective Material, per	225	Each Set	\$43.90	\$9,877.50	\$44.00	\$9,900.00	\$47.20	\$10,620.00	\$35.50	\$7,987.50	\$38.15	\$8,583.75		\$37.27	\$8,385.75
	Appendix, Minimum Specifications on pages 14-15.	40	Jacket Only	\$30.45	\$1,218.00			\$61.45	\$2,458.00	\$24.85	\$994.00				\$34.90	\$1,396.00
92	Rainwear Set, X-Large, 100% Waterproof, Class 3, Fluorescent Yellow-Green, 3M™ Scotchlite™ Reflective Material, per	325	Each Set	\$43.90	\$14,267.50	\$44.00	\$14,300.00	\$47.20	\$15,340.00	\$35.50	\$11,537.50	\$38.15	\$12,398.75		\$37.27	\$12,112.75
	Appendix, Minimum Specifications on pages 14-15.	20	Jacket Only	\$30.45	\$609.00			\$61.45	\$1,229.00	\$24.85	\$497.00				\$34.90	\$698.00

ITEM NO.	ITEM DESCRIPTION	ANNUAL ESTIMATED QUANTITY	UNIT	UNIT PRICE	EXTENDED PRICE												
								RAIN WEAF	ł								
	Rainwear Set, 2X-Large, 100% Waterproof, Class 3, Fluorescent Yellow- Green, 3M™ Scotchlite™ Reflective Material, per	450	Each Set	\$43.90	\$19,755.00	\$45.00	\$20,250.00	\$48.50	\$21,825.00	\$37.75	\$16,987.50	\$38.15	\$17,167.50			\$38.48	\$17,316.00

	Appendix, Minimum Specifications on pages 14-15.	1	Jacket Only	\$30.45	\$30.45			\$62.75	\$62.75	\$26.43	\$26.43					\$36.12	\$36.12
94	Rainwear Set, 3X-Large, 100% Waterproof, Class 3, Fluorescent Yellow- Green, 3M [™] Scotchlite [™] Reflective Material, per	450	Each Set	\$43.90	\$19,755.00	\$46.00	\$20,700.00	\$49.80	\$22,410.00	\$37.75	\$16,987.50	\$38.15	\$1,907.50			\$39.70	\$17,865.00
	Appendix, Minimum Specifications on pages 14-15.	20	Jacket Only	\$30.45	\$609.00			\$64.00	\$1,280.00	\$26.43	\$528.60					\$37.33	\$746.60
95	Rainwear Set, 4X-Large, 100% Waterproof, Class 3, Fluorescent Yellow- Green, 3M [™] Scotchlite [™] Reflective Material, per	450	Each Set	\$43.90	\$19,755.00	\$47.25	\$21,262.50	\$51.10	\$22,995.00	\$37.75	\$16,987.50	\$38.15	\$17,167.50			\$40.91	\$18,409.50
	Appendix, Minimum Specifications on pages 14-15.	1	Jacket Only	\$30.45	\$30.45			\$65.35	\$65.35	\$26.43	\$26.43					\$38.55	\$38.55
96	Rainwear Set, 5X-Large, 100% Waterproof, Class 3, Fluorescent Yellow- Green, 3M [™] Scotchlite [™] Reflective Material, per	400	Each Set	\$43.90	\$17,560.00	\$48.50	\$19,400.00	\$52.40	\$20,960.00	\$39.50	\$15,800.00	\$38.15	\$15,260.00			\$42.12	\$16,848.00
	Appendix, Minimum Specifications on pages 14-15.	1	Jacket Only	\$30.45	\$30.45			\$66.65	\$66.65	\$27.65	\$27.65					\$39.76	\$39.76
97	Rainwear Set, 6X-Large, 100% Waterproof, Class 3, Fluorescent Yellow- Green, 3M [™] Scotchlite [™] Reflective Material, per	150	Each Set	\$43.90	\$6,585.00	\$49.75	\$7,462.50	\$53.70	\$8,055.00	\$39.50	\$5,925.00					\$43.33	\$6,499.50
	Appendix, Minimum Specifications on pages 14-15.	1	Jacket Only	\$30.45	\$30.45			\$67.95	\$67.95	\$27.65	\$27.65					\$40.97	\$40.97
98	Rainwear Set, 7X-Large, 100% Waterproof, Class 3, Fluorescent Yellow- Green, 3M [™] Scotchlite [™] Reflective Material, per	100	Each Set	\$43.90	\$4,390.00	\$51.00	\$5,100.00			\$39.50	\$3,950.00						
50	Appendix, Minimum Specifications on pages 14-15.	1	Jacket Only	\$30.45	\$30.45					\$27.65	\$27.65						
99	Rainwear Jacket, Small, 100% Waterproof, Class 3, Fluorescent Yellow-Green Two Tone, 3M™ Scotchlite™ Reflective Material, per Appendix, Minimum Specifications on pages 16-18.	25	Each	\$30.45	\$761.25	\$31.00	\$775.00	\$27.25	\$681.25	\$43.75	\$1,093.75	\$37.95	\$948.75			\$24.73	\$618.25
100	Rainwear Jacket, Medium, 100% Waterproof, Class 3, Fluorescent Yellow- Green Two Tone, 3M™ Scotchlite™ Reflective Material, per Appendix, Minimum Specifications on pages 16-18.	30	Each	\$30.45	\$913.50	\$31.00	\$930.00	\$27.25	\$817.50	\$43.75	\$1,312.50	\$37.95	\$1,138.50			\$24.73	\$741.90
101	Rainwear Jacket, Large, 100% Waterproof, Class 3, Fluorescent Yellow-Green Two Tone, 3M™ Scotchilte™ Reflective Material, per Appendix, Minimum Specifications on pages 16-18.	60	Each	\$30.45	\$1,827.00	\$31.00	\$1,860.00	\$27.25	\$1,635.00	\$43.75	\$2,625.00	\$37.95	\$2,277.00			\$24.73	\$1,483.80
102	Rainwear Jacket, X-Large, 100% Waterproof, Class 3, Fluorescent Yellow- Green Two Tone, 3M™ Scotchlite™ Reflective Material, per Appendix, Minimum Specifications on pages 16-18.	100	Each	\$30.45	\$3,045.00	\$31.00	\$3,100.00	\$27.25	\$2,725.00	\$43.75	\$4,375.00	\$37.95	\$3,795.00			\$24.73	\$2,473.00
103	Rainwear Jacket, 2X-Large, 100% Waterproof, Class 3, Fluorescent Yellow- Green Two Tone, 3M™ Scotchlite™ Reflective Material, per Appendix, Minimum Specifications on pages 16-18.	100	Each	\$30.45	\$3,045.00	\$32.00	\$3,200.00	\$28.55	\$2,855.00	\$46.50	\$4,650.00	\$37.95	\$3,795.00			\$25.94	\$2,594.00
ITEM NO.	ITEM DESCRIPTION	ANNUAL ESTIMATED QUANTITY	UNIT	UNIT PRICE	EXTENDED PRICE												
						1		RAIN WEAI	R	1							
104	Rainwear Jacket, 3X-Large, 100% Waterproof, Class 3, Fluorescent Yellow- Green Two Tone, 3M TM Scotchlite TM Reflective Material, per Appendix, Minimum Specifications on pages 16-18.	100	Each	\$30.45	\$3,045.00	\$33.00	\$3,300.00	\$29.85	\$2,985.00	\$46.50	\$4,650.00	\$37.95	\$3,795.00			\$27.15	\$2,715.00

105	Rainwear Jacket, 4X-Large, 100% Waterproof, Class 3, Fluorescent Yellow- Green Two Tone, 3M™ Scotchlite™ Reflective Material, per Appendix, Minimum Specifications on pages 16-18.	75	Each	\$30.45	\$2,283.75	\$34.00	\$2,550.00	\$31.15	\$2,336.25	\$46.50	\$3,487.50	\$37.95	\$2,846.25		\$28.36	\$2,127.00
106	Rainwear Jacket, 5X-Large, 100% Waterproof, Class 3, Fluorescent Yellow- Green Two Tone, 3M™ Scotchlite™ Reflective Material, per Appendix, Minimum Specifications on pages 16-18.	75	Each	\$30.45	\$2,283.75	\$35.50	\$2,662.50	\$32.45	\$2,433.75	\$47.75	\$3,581.25	\$37.95	\$2,846.25		\$29.58	\$2,218.50
107	Rainwear Jacket, 6X-Large, 100% Waterproof, Class 3, Fluorescent Yellow- Green Two Tone, 3M™ Scotchlite™ Reflective Material, per Appendix, Minimum Specifications on pages 16-18.	50	Each	\$30.45	\$1,522.50	\$36.50	\$1,825.00	\$33.75	\$1,687.50	\$47.75	\$2,387.50				\$30.79	\$1,539.50
108	Rainwear Jacket, 7X-Large, 100% Waterproof, Class 3, Fluorescent Yellow- Green Two Tone, 3MTM Scotchlite TM Reflective Material, per Appendix, Minimum Specifications on pages 16-18.	30	Each	\$30.45	\$913.50	\$36.50	\$1,095.00			\$47.75	\$1,432.50					
109	Rainwear Trousers, Small, 100% Waterproof, Class E, Fluorescent Yellow- Green Two Tone, 3MTM Scotchlite TM Reflective Material, per Appendix, Minimum Specifications on pages 19-20.	25	Each	\$23.31	\$582.75	\$21.00	\$525.00	\$22.05	\$551.25	\$16.00	\$400.00	\$25.75	\$643.75		\$20.55	\$513.75
110	Rainwear Trousers, Medium, 100% Waterproof, Class E, Fluorescent Yellow- Green Two Tone, 3MTM Scotchlite TM Reflective Material, per Appendix, Minimum Specifications on pages 19-20.	35	Each	\$23.31	\$815.85	\$21.00	\$735.00	\$22.05	\$771.75	\$16.00	\$560.00	\$25.75	\$901.25		\$20.55	\$719.25
111	Rainwear Trousers, Large, 100% Waterproof, Class E, Fluorescent Yellow- Green Two Tone, 3M™ Scotchilte™ Reflective Material, per Appendix, Minimum Specifications on pages 19-20.	80	Each	\$23.31	\$1,864.80	\$21.00	\$1,680.00	\$22.05	\$1,764.00	\$16.00	\$1,280.00	\$25.75	\$2,060.00		\$20.55	\$1,644.00
112	Rainwear Trousers, X- Large, 100% Waterproof, Class E, Fluorescent Yellow- Green Two Tone, 3M™ Scotchlite™ Reflective Material, per Appendix, Minimum Specifications on pages 19-20.	100	Each	\$23.31	\$2,331.00	\$21.00	\$2,100.00	\$22.05	\$2,205.00	\$16.00	\$1,600.00	\$25.75	\$2,575.00		\$20.55	\$2,055.00
113	Rainwear Trousers, 2X-Large, 100% Waterproof, Class E, Fluorescent Yellow- Green Two Tone, 3M TM Scotchlite TM Reflective Material, per Appendix, Minimum Specifications on pages 19-20.	100	Each	\$23.31	\$2,331.00	\$22.50	\$2,250.00	\$23.35	\$2,335.00	\$17.75	\$1,775.00	\$25.75	\$2,575.00		\$21.76	\$2,176.00
114	Rainwear Trousers, 3X- Large, 100% Waterproof, Class E, Fluorescent Yellow- Green Two Tone, 3M TM Scotchlite TM Reflective Material, per Appendix, Minimum Specifications on pages 19-20.	100	Each	\$23.31	\$2,331.00	\$23.75	\$2,375.00	\$24.65	\$2,465.00	\$17.75	\$1,775.00	\$25.75	\$2,575.00		\$22.97	\$2,297.00

ITEM NO.	ITEM DESCRIPTION	ANNUAL ESTIMATED QUANTITY	UNIT	UNIT PRICE	EXTENDED PRICE												
								RAIN WEAF	ł								
115	Rainwear Trousers, 4X-Large, 100% Waterproof, Class E, Fluorescent Yellow- Green Two Tone, 3M™ Scotchlite™ Reflective Material, per Appendix, Minimum Specifications on pages 19-20.	75	Each	\$23.31	\$1,748.25	\$25.00	\$1,875.00	\$25.95	\$1,946.25	\$17.75	\$1,331.25	\$25.75	\$1,931.25			\$24.18	\$1,813.50

-					1												
116	Rainwear Trousers, 5X-Large, 100% Waterproof, Class E, Fluorescent Yellow- Green Two Tone, 3MTM Scotchlite TM Reflective Material, per Appendix, Minimum Specifications on pages 19-20.	75	Each	\$23.31	\$1,748.25	\$26.50	\$1,987.50	\$27.25	\$2,043.75	\$19.00	\$1,425.00	\$25.75	\$1,931.25			\$25.39	\$1,904.25
117	Rainwear Trousers, 6X-Large, 100% Waterproof, Class E, Fluorescent Yellow- Green Two Tone, 3M [™] Scotchlite [™] Reflective Material, per Appendix, Minimum Specifications on pages 19-20.	75	Each	\$23.31	\$1,748.25	\$27.50	\$2,062.50	\$28.55	\$2,141.25	\$19.00	\$1,425.00					\$26.61	\$1,995.75
118	Rainwear Trousers, 7X-Large, 100% Waterproof, Class E, Fluorescent Yellow- Green Two Tone, 3M™ Scotchlite™ Reflective Material, per Appendix, Minimum Specifications on pages 19-20.	50	Each	\$23.31	\$1,165.50	\$29.00	\$1,450.00			\$19.00	\$950.00						
119	Rain Coat, Medium, Fluorescent Yellow- Green, 3M™ Scotchlite™ Reflective Material, per Appendix, Minimum Specifications on page 21.	1	Each									\$75.00	\$75.00				
120	Rain Coat, Large, Fluorescent Yellow- Green, 3M™ Scotchlite™ Reflective Material, per Appendix, Minimum Specifications on page 21.	1	Each									\$75.00	\$75.00				
121	Rain Coat, X-Large, Fluorescent Yellow- Green, 3M™ Scotchlite™ Reflective Material, per Appendix, Minimum Specifications on page 21.	1	Each									\$75.00	\$75.00				
122	Rain Coat, 2X-Large, Fluorescent Yellow- Green, 3M™ Scotchlite™ Reflective Material, per Appendix, Minimum Specifications on page 21.	1	Each									\$75.00	\$75.00				
123	Rain Coat, 3X-Large, Fluorescent Yellow- Green, 3M [™] Scotchlite [™] Reflective Material, per Appendix, Minimum Specifications on page 21.	1	Each									\$75.00	\$75.00				
124	Rain Coat, 4X-Large, Fluorescent Yellow- Green, 3M™ Scotchlite™ Reflective Material, per Appendix, Minimum Specifications on page 21.	1	Each									\$75.00	\$75.00				
125	Rain Coat, 5X-Large , Fluorescent Yellow- Green, 3M [™] Scotchlite [™] Reflective Material, per Appendix, Minimum Specifications on page 21.	1	Each									\$75.00	\$75.00				
126	Waist Jacket, Medium, Fluorescent Yellow- Green, 3M™ Scotchlite™ Reflective Material, per Appendix, Minimum Specifications on page 21.	1	Each									\$83.50	\$83.50				
127	Waist Jacket, Large, Fluorescent Yellow- Green, 3M™ Scotchlite™ Reflective Material, per Appendix, Minimum Specifications on page 21.	1	Each									\$83.50	\$83.50				
ITEM NO.	ITEM DESCRIPTION	ANNUAL ESTIMATED QUANTITY	UNIT	UNIT PRICE	EXTENDED PRICE												
								RAIN WEAL	R								
128	Waist Jacket, X-Large, Fluorescent Yellow- Green, 3M™ Scotchlite™ Reflective Material, per Appendix, Minimum Specifications on page 21.	1	Each									\$83.50	\$83.50				
129	Waist Jacket, 2X-Large, Fluorescent Yellow- Green, 3M [™] Scotchlite [™] Reflective Material, per Appendix, Minimum Specifications on page 21.	1	Each									\$83.50	\$83.50				

	Waist Jacket, 3X- Large, Fluorescent Yellow-																
130	Green, 3M™ Scotchlite™ Reflective Material, per Appendix, Minimum Specifications on page 21.	1	Each									\$83.50	\$83.50				
131	Waist Jacket, 4X- Large, Fluorescent Yellow- Green, 3M™ Scotchlite™ Reflective Material, per Appendix, Minimum Specifications on page 21.	1	Each									\$83.50	\$83.50				
132	Waist Jacket, 5X-Large, Fluorescent Yellow- Green, 3M™ Scotchlite™ Reflective Material, per Appendix, Minimum Specifications on page 21.	1	Each									\$83.50	\$83.50				
133	Motorcycle Jacket, Small, Yellow-Green, 3M™ Scotchlite™ Reflective Material, per Appendix, Minimum Specifications on pages 22-23.	10	Each									\$110.50	\$1,105.00				
134	Motorcycle Jacket, Medium, Yellow-Green, 3M™ Scotchlite™ Reflective Material, per Appendix, Minimum Specifications on pages 22-23.	50	Each									\$110.50	\$5,525.00				
135	Motorcycle Jacket, Large, Yellow-Green, 3M™ Scotchlite™ Reflective Material, per Appendix, Minimum Specifications on pages 22-23.	50	Each									\$110.50	\$5,525.00				
136	Motorcycle Jacket, X-Large, Yellow-Green, 3M™ Scotchlite™ Reflective Material, per Appendix, Minimum Specifications on pages 22-23.	50	Each									\$110.50	\$5,525.00				
137	Motorcycle Jacket, 2X-Large, Yellow-Green, 3M™ Scotchlite™ Reflective Material, per Appendix, Minimum Specifications on pages 22-23.	20	Each									\$110.50	\$2,210.00				
138	Motorcycle Jacket, 3X-Large, Yellow-Green, 3M™ Scotchlite™ Reflective Material, per Appendix, Minimum Specifications on pages 22-23.	10	Each									\$116.85	\$1,168.50				
139	Motorcycle Jacket, 4X-Large, Yellow-Green, 3M™ Scotchlite™ Reflective Material, per Appendix, Minimum Specifications on pages 22-23.	5	Each									\$116.85	\$584.25				
140	Motorcycle Jacket, 5X-Large, Yellow-Green, 3M™ Scotchlite™ Reflective Material, per Appendix, Minimum Specifications on pages 22-23.	1	Each														
141	Motorcycle Pants, Small, Yellow-Green, 3M™ Scotchlite™ Reflective Material, per Appendix, Minimum Specifications on pages 24-25.	10	Each									\$49.95	\$499.50				
ITEM NO.	ITEM DESCRIPTION	ANNUAL ESTIMATED QUANTITY	UNIT	UNIT PRICE	EXTENDED PRICE												
								RAIN WEAF	٤								
142	Motorcycle Pants, Medium, Yellow-Green, 3M™ Scotchlite™ Reflective Material, per Appendix, Minimum Specifications on pages 24-25.	50	Each									\$49.95	\$2,497.50				
143	Motorcycle Pants, Large, Yellow-Green, 3M™ Scotchlite™ Reflective Material, per Appendix, Minimum Specifications on pages 24-25.	50	Each									\$49.95	\$2,497.50				
144	Motorcycle Pants, X-Large, Yellow-Green, 3M™ Scotchlite™ Reflective Material, per Appendix, Minimum Specifications on pages 24-25.	50	Each									\$49.95	\$2,497.50				

145	Motorcycle Pants, 2X-Large, Yellow-Green, 3M™ Scotchlite™ Reflective Material, per	20	Each									\$49.95	\$999.00				
145	Appendix, Minimum Specifications on pages 24-25.	20	Lacii									549.95	\$777.00				
146	Motorcycle Pants, 3X -Large, Yellow-Green, 3M™ Scotchlite™ Reflective Material, per Appendix, Minimum Specifications on pages 24-25.	10	Each									\$49.95	\$499.50				
147	Motorcycle Pants, 4X-Large, Yellow-Green, 3M™ Scotchlite™ Reflective Material, per Appendix, Minimum Specifications on pages 24-25.	5	Each									\$49.95	\$249.75				
148	Motorcycle Pants, 5X-Large, Yellow-Green, 3M™ Scotchlite™ Reflective Material, per Appendix, Minimum Specifications on pages 24-25.	1	Each									\$49.95	\$49.95				
149	Rain Pants, Medium, Yellow-Green, 3M™ Scotchlite™ Reflective Material, per Appendix, Minimum Specifications on page 21.	1	Each					\$22.05	\$22.05			\$49.95	\$49.95				
150	Rain Pants, Large, Yellow-Green, 3M™ Scotchlite™ Reflective Material, per Appendix, Minimum Specifications on page 21.	1	Each					\$22.05	\$22.05			\$49.95	\$49.95				
151	Rain Pants, X-Large, Yellow-Green, 3M™ Scotchlite™ Reflective Material, per Appendix, Minimum Specifications on page 21.	1	Each					\$22.05	\$22.05			\$49.95	\$49.95				
152	Rain Pants, 2X-Large, Yellow-Green, 3M TM Scotchlite TM Reflective Material, per Appendix, Minimum Specifications on page 21.	1	Each					\$23.35	\$23.35			\$49.95	\$49.95				
153	Rain Pants, 3X-Large, Yellow-Green, 3M TM Scotchlite TM Reflective Material, per Appendix, Minimum Specifications on page 21.	1	Each					\$24.65	\$24.65			\$49.95	\$49.95				
154	Rain Pants, 4X-Large, Yellow-Green, 3M™ Scotchlite™ Reflective Material, per Appendix, Minimum Specifications on page 21.	1	Each					\$25.95	\$25.95			\$49.95	\$49.95				
155	Rain Pants, 5X-Large, Yellow-Green, 3M TM Scotchlite TM Reflective Material, per Appendix, Minimum Specifications on page 21.	1	Each					\$27.25	\$27.25			\$49.95	\$49.95				
ITEM NO.	ITEM DESCRIPTION	ANNUAL ESTIMATED QUANTITY	UNIT	UNIT PRICE	EXTENDED PRICE												
								SWEATSHIR	TS								
156	Crewneck Sweatshirt, Medium, Kiwi, Heavy Blend™, Classic Fit Adult, 50% Cotton / 50% Polyester Fleece, per Appendix, Minimum Specifications on page 26.	1	Each					\$11.70	\$11.70			\$12.50	\$12.50	\$12.99	\$12.99		
157	Crewneck Sweatshirt, Large, Kiwi, Heavy Blend™, Classic Fit Adult, 50% Cotton / 50% Polyester Fleece, per Appendix, Minimum Specifications on page 26.	12	Each					\$11.70	\$140.40			\$12.50	\$150.00	\$12.99	\$155.88		
158	Crewneck Sweatshirt, X-Large, Kiwi, Heavy Blend™, Classic Fit Adult, 50% Cotton / 50% Polyester Fleece, per Appendix, Minimum Specifications on page 26.	15	Each					\$11.70	\$175.50			\$12.50	\$187.50	\$15.99	\$239.85		

159	Crewneck Sweatshirt, 2X-Large, Kiwi, Heavy Blend™, Classic Fit Adult, 50% Cotton / 50% Polyester Fleece, per Appendix, Minimum Specifications on page 26.	1	Each					\$14.75	\$14.75			\$15.25	\$15.25	\$15.99	\$15.99		
160	Crewneck Sweatshirt, 3X-Large, Kiwi, Heavy Blend TM , Classic Fit Adult, 50% Cotton / 50% Polyester Fleece, per Appendix, Minimum Specifications on page 26.	3	Each					\$16.10	\$48.30			\$17.00	\$51.00	\$15.99	\$47.97		
161	Crewneck Sweatshirt, 4X-Large, Kiwi, Heavy Blend™, Classic Fit Adult, 50% Cotton / 50% Polyester Fleece, per Appendix, Minimum Specifications on page 26.	1	Each					\$16.10	\$16.10			\$17.00	\$17.00	\$15.99	\$15.99		
								HEAD GEA	R								
162	Ranger Hat, Fluorescent Yellow-Green, One Size, Contrasting Orange-Red Ribbon, 3M [™] Scotchlite [™] Reflective Material, per Appendix, Minimum Specifications on pages 27-28.	675	Each	\$6.50	\$4,387.50	\$7.00	\$4,725.00	\$6.50	\$4,387.50	\$8.95	\$6,041.25	\$4.75	\$3,206.25			\$6.06	\$4,090.50
163	Baseball Hat, Adjustable, Fluorescent Yellow-Green, 3M™ Scotchlite™ Reflective Material, per Appendix, Minimum Specifications on page 29.	750	Each	\$5.85	\$4,387.50	\$6.00	\$4,500.00	\$6.00	\$4,500.00	\$8.95	\$6,712.50	\$6.00	\$4,500.00			\$5.45	\$4,087.50
164	Knit Cap, Fluorescent Yellow-Green, 3M™ Scotchlite™ Reflective Material, per Appendix, Minimum Specifications on page 30.	500	Each	\$5.85	\$2,925.00	\$6.00	\$3,000.00	\$6.00	\$3,000.00	\$8.95	\$4,475.00	\$4.75	\$2,375.00			\$5.45	\$2,725.00
	-							LETTERIN	G				•				
165	One-time dye charge for lettering.			\$4	0.00	\$0	0.00	\$2	25.00	\$5	50.00	S	60.00	\$4	40.00	\$0	0.00
166	One-time dye charge for County Logo, per dia	gram on page 31.		\$4	0.00	\$0	0.00	\$2	25.00	\$5	50.00	\$	60.00	\$4	40.00	\$0	0.00
Numb	per of Bids Received: 8***			•										•			
LSBF	Participation Benchmark/GFE				aived		aived		aived		aived		aived		aived		aived
Atten	dance at the Mandatory LSBE Meet	ting (Yes/No)			aived		aived		aived		aived		aived		aived		aived
Separ	ate Sealed Price Schedule (Yes/No)			Wa	aived	Wa	aived	W	aived	W	aived	W	aived	W	aived	Wa	aived

NOTES - DETAIL JUSTIFICATION

* Due to finding three (3) additional bids sent prior to the opening date of March 25, 2022, a second bid/cost opening date was added.

** Items in red indicate corrected extended pricing amounts as there were obvious miscalculation errors. In the event that extended pricing provided by a vendor does not equal the estimated quantity multiplied by the unit of pricing, the unit pricing is considered to be the accurate pricing.

*** Seaside Companies, LLC dba Seaside Uniforms did not provide pricing.

Only responsive bids are considered for award.

Brewer & Associates, LLC was deemed non-responsive due to not completing the Contractor Affidavit and First Source Jobs Acknowledgement Form.

Heaven's Ark Enterprise, LLC, LAG Sports & Leather Wear, LLC, and Premiere Safety were deemed non-responsive due to not completing the Contractor Affidavit.

Seaside Companies, LLC dba Seaside Uniforms was deemed non-responsive due to not providing pricing with the bid and completing the Contractor Affidavit and First Source Jobs Acknowledgement Form.

Recommend award to:

E.R. Partridge, Inc., 3870 Green Industrial Way, Atlanta, GA 30341

Dana Safety Supply, Inc., 4729 Nelson Brogdon Blvd., Sugar Hill, GA 30518

Safety Products, Inc., 5940 General Commerce Dr., Charlotte, NC 28213

Witness Signature: